b 1410 %"

02 %"
26 1"

T‘ 5 14

(1 FRONT ELEVATION

121 3/8" —— e

0'-2 5/8"
0-3"

(57

0
[ =

¢~ 2"\ END VIEW

\J.0/ SCALE: %"= 10"

\1.0./ SCALE:

%= 1"

b— 2u 9 — 1241 378"
b 17 718 Tromc g 2y T
090" alum, Iid L ift clip
] w/ gasket mmo 14

Ends of 1/8" Alum.

7
1
I
|

face overhang frame

& ol
g =]
£ 1/8" Alum, return @
N 1 corners/ends (glue
= fo face overhang)
© 1
o™
£, 2" X2 14" X 1/8"
T /I Alum. sq. tube frame
L FJ Y typ. Power disconnect switch typ. o 1 % 2" x 1/8" Alum.
¥p: Power out rec. tube brace Mounting holes (typ.)

Power out
/73™\ CABINET FRAME DETAIL

\1.0/ SCALE: %&"= 1’0"

E«vmem_n.ﬁ_ozm FOR (1) ILLUMINATED CHANNEL LETTER SIGN (38 SQ. FT.)

CHANNEL LETTERS "CHIPOTLE" & PEPPER LOGO
LETTER TYPE= Face-Lit pan channel letters
DEPTH=3"
FACES= Pepper Logo= 1" Clear acrylic w/ recessed graphics
All others= 3/16" Cyro #2447 Milk-White acrylic
TRIMCAP= 1" Brown Jewelite
BACKS= .040" Pre-finished white aluminum
RETURNS= 040" Pre-finished Adobo Brown aluminum {w/ weep holes)
ILLUMINATION= GE Tetra miniMAX white LEDs
MOUNTING= Mount to face of raceway with #10 Tek screws as req.

e ZCHIPOTLE" & PEPPER LOGO RACEWAY CABINETS

FACE= 1/8" Aluminum- Attachment to frame via Versalok adhesive
Note: faces overhang ends of frame typ.
RETURNS= @ ends/corners- 1/8" Alum. spot weld and Versalok to face

CHIPOTLE" & PEPPER LOGO RACEWAY CABINETS Continued
BACK= 040" Alum.- Rivet or screw to back of frame as req,
FRAME= 2 14" x 1/8" Aluminum sq. fube w/ 1" x 2" x 1/8" alum. brace
LIFT CLIPS= 4" Steel plate w/ welded 3/8" nut glued to inside of frame.

Attach %" steel angle lift clips to top of cab. wi 3/8" bolts
MOUNTING= Mount to existing fascia wf 3/8" lag bolts through face/ frame
(Heyca plugs required in cabinet face)
ACCESS= Flush .090" alum. lid & gasket covers top of frame tube cut out

Removable
fift clip

080" alum. lid
w/ gasket

178" Alum,
face
Heyco
cap
LED controller
2 ___\m_. m.n. Emm ﬁmﬂ,m
W/ rec Ula i
cut n top for serios 2195 Fasienmrs
an::m_ access
&

i Power (47 ENLARGEMENT DETAIL
sign an \1.0./ SCALE: NO SCALE
final hook
up is by

Raceway olhers typ.
cabinet
{5 \END SECTION
\1.0./ SCALE: 1 %"= 10"
ELECTRICAL

PRIMARY= 120V electrical to sign and final hook up is by others (leave 6'-0"
pigtail out back of raceway cabinets in %" seal-tite conduit).

SECONDARY= 12V LED wire leads jumped in raceway. 12V LED
transformers mounted in top sq. tube of raceway

POWER DISCONNECT= Toggle switch on end of raceway cabinet
as req.

COLOR SPECIFICATIONS
@) PT.M. PMS #484C "Roasted Red" (Nuance)

NOTE: Paint all exposed
fasteners and Heyco caps

@ P.T.M. PMS #4625C "Adobo Brown" (Nuance) to match adjacent finish

Portland, ME 04101

Client: Chipotle 08/24/2015 | Original Renderings SD | his rendaring is the property of Anchor
; : /25/2015 | Revised E ions, Si SD | Sion. Inc. It is for the exclusiva use of
Site #: CL-18-2603 72015 | Ravi Anch ma_.?_“n‘ msmmwﬂ party which
vised MT Panels _ ren
CHIPOTLE IS 10/08/2015 J'add Sian E second MT sign idendiical of Sig anal crawi

)

without the cansent of Anchor Sign, Inc.,

, >.mm_5..mmmq

Marginal Way

Please contact yaur account manager

with questions regarding this statement,




